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The area of the rectangle isD cm squared.
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Area of rectangles

@ o the grid, the area of each square is 1 em?
Calculate the area of eoch rectangle.
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€ complete the sentences 1o describe the rectangle.
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© The orea of each square is 1 cm’
Work out the area of each rectangle.
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Reason: 5,6,7

° Calculate the orea of the rectangles.
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e Work out the area of these rectangles.
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o How many rectangles con you draw that have an area of 24 cm??
Lobel the lengths. Your drawings do not have 10 be exact.

Compare your answers with a partner.

These shapes all have the same area. Shape
Work out the missing lengths.
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© A rectonge has on oreo of 96 o
The length of the rectongle is & em longer t
Work aut the length and width of the recta
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Area of rectangles @ ° The area of each square is 1 cm?

@ 0n the orid, the area of each square s 1 e

Colculate the area of each rectangle.
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Work out the area of each rectangle.
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ANSWERS

b) d)

@ cokulate the area of the rectangles. ° These shapes ol bove the sme arva. Shepe A i o square.
Wark out the missing lengths.

5am

cm’

e Work out the orea of these rectangles.

o) b)
-
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TZmm k],m © 4 rectongle hos an area of 95 camt
The length of the rectangle is 4 cm longer than the width.
| U™ ‘ | 210m® I Work out the length and width of the rectangle.
How many rectangles can you drow that have an areq of 24 cm?? @

Label the lengths. Your drawings do not have to be exact.
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r u r F a s ? Area of rectangles

All squares are rectangles, but not dll

rectangles are squares.
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Area of compound shapes

@ 0 the grid, the area of each square is 1 cm?
‘Caleulate the area of each shape.

1cm
—

‘@) Work out the area of rectangle A
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e

a) 18 o

E
I = b) Work out the area of rectangle B

) Work out the area of the compound shope.

Talk about it with your partner. @

I:l @ Work out the area of each of the following shapes

Shew all your working.

I 5 a ) 7m
| AN R
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| 4cm Bam
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@ colcuiate the area of the compound shapes.
) Mark on the shape how you partitioned it.

8cm

b) Show how you can partition the shope in two other ways.

8am 8em
[sen Im
Som e Sam
am em
Tiem T1em
8em 8em

€ Alex has calculated the area of the same shape below.

Bx7=56

5x3-=15
56— 15 = 41 e

Explain the method Alex has used.

Reason: 1b, 2, 5,7

e Calculate the aren of these compound shapes.
o

7em

25 am

b)

18 mm
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@ The area of this shape is 83 cm
Work out the perimeter of the shape.

12.cm
7em
acm




3cm 5ecm
Area of compound shapes 2] :
B 2om

o ANSWERS

o On the grid, the area of each square is 1 em?

Calculate the area of each shape. @) Work out the orea of rectangle A
1am 1cm
L O =

i I: 9 I: b) Work out the areo of rectangle B

) Work out the areo of the compound shape.

Talk about it with your partner. o
.
1am @ colcuiate the area of the compaund shages. ° Calculate the area of these compound shapes. @
— >
b) M h i it. ¥
I 5 a) Mark on the shape how you partitioned it. a) i Fe
- &em
10 em
l [8em
25m

b)
b) Show how you can partition the shape in two other ways. @
8 cm 8ecm
T
: Is o I 3am 18 mm
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5.cam 5cm
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5 mm 5 mm
8cm 8cm
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©) Alex has colculated the area of the same shape below. o (1% Siaa of s shope s A3l Q

Work out the perimeter of the shape.

8x7=56

5x3=15

56-15= 2
15 = 41 em’ R

Explain the method Alex hos used.

Sudraced n astn of the ‘mn;;\%‘ ruccangle




To calculate the area of a compound shape, you can

just multiply the lengths given, then add the answers.

9cm

e 9x0=18
4 X 5=20
18 + 20 = 38

Area = 38 cm?

Discuss
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Mega Challenge:

The diagram shows a purple rectangle

with a square cut out of it. =

Calculate the area:

8cm
11 of the square cut out. 2¢cm

12 of remaining purple part. D l
\




WALT: calculate the area of a

( The diagram shows a purple rectangle \

with a square cut out of it.

8 em i L 4 cm Calculate the area:
il dem — }2

11 of the square cut out.

12 of remaining purple part.

7: 50ct  8: l6om? [l: Lom?
K 12: 28.cm?

If you correctly .answered all of the .mega

challenge question, mowve on to the class
questions.

If you did not answer all the mega .challenge
correctly, stoy with me to learn more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




True or False? 5
P you cut ot iece e & shage you

e 5 e and penmter
Do 2 enams 15 e your Frrking

I

A;v\-\rlhxwﬂnr «mr—

Each arange square
has an area of q
fem.

Calculate the total
orange ared
Calculate the blue
aren

Calculate the green
arca

What is the total area
of the whole shape?

Der oder o lwgent o

This rectangle has a0 wrea of T2 om.

What s the pecinstar o 7
the rectangie’

Each orange square
has an area of

24 em’, q
Calculate the total
onange area
Colculate the biue
area.

Calculate the green

area.
What is the total area
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Work out the area of these thapes:
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How many diferent ways can you splt
this shape 10 find the area? 8
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Add more values and work out the area.

[I  Harieen measures her laptop screen

Calculate the area.
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Calculate the area of these symmetrical shapes.

pe

o 3 possible compound shapes that
have an area of 34 cm?
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This rectangle has an area of 72 em.
bom

What is the perimater of

the rectangle! 36em

mmMINﬂlnﬁ
with a square cut out of it.

Calculate the area: 4.cm”

@ of the square cut out.

2  of remaining purple part.
32 - 4 = 28em?

Each orange square

has an arma of Arewer Grange =
e, 8 e
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orsnge sres Bue =f 2em?

Calculare the blue - L

ooy Green =l ot

Caloulare the greon
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What s the total avea
of the whale shape?
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has o ared of Arswer: Orange =
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Jom
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Work out the area of the thapes below: 2 Add more values and work out the area.
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750-500=250cm’

Calculate the area.
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Calculate the area of these symg\zlr-cu shapes
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Jack has a shape with an area of 34 omv.
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What is the area of this shape?

1cm
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Estimate the area of this shape.

centimetre (cm) N
millimetre (mm) -
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Area is the n
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Estimate the area of this shape.




Area of irregular shapes

o On the grid, the area of eoch square is 1 cm?

Estimate the area of each shape.
Tem 1em
— -
al 15w 18

1

e Mo draws two shapes on a om’ grid.

Estimate the area of each shope.
1em 1em
o -
ol LT[ i§w I
= - -
= - =

N

measure

1em
I

e
@ o a} On the grid below, draw around your closed @
hond ond estimate the area.

b) On the grid below, drow oreund your open

hand and estimate the area.

(I

‘Compare your estimates for ) and b). Do you notice anything?

Do .it!
Reason .it!
Peer M.ark .it!

@ Here is the outline of two islands.
Each square represents 1 km? of land.
Which island has the greater area and how much greater is it?
1 km

—

] 15

I
r A [ J
9

° This is the outline of a large forest area. @
10m
-

Estimate the area of the forest



ANSWERS

° On the grid, the area of each square is 1 cm?

o Here is the outline of two islands.
Each square represents 1 km? of land.

Which island has the greater area and how much greater is it?

1km
Estimate the area of each shape. e
1an 1cm T T I:
—r —r - ]
a 18 b) 1§ / 7
N CEFN ——

a Mo draws two shapes on a cm? grid.

Estimate the area of each shape. 5
1cm 1cm =
— —
a) P IE, b) ] I‘_E‘
N\

How did you estimate the area of b)? @ Estimate the area of the forest.
Talk about it with your partner.
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The area of the blue shape is approximately 12 cm?,

because it is in |2 squares.

(@

/ Discuss
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Challenge: 12mm | |

| I5cml|

6mm | | l6em —

| 4.cm
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Area: 6XI12=7 2.mun Hicis e =aEe
Perimeter: 6+6+|2+|2=36.mun I15cmXl4em = 210.em

210+96= 306.cm

Perimeter: 15+20+16+6+|+14=7 2cm

‘12 Mou correctly answered all of the mega

challenge question, .mowxe on to the class
questions.

[f you did not .answer all the mega .challenge

correctly, stay with .me to learn more.

| Class questions - see next slide! |

REASON AND PEER MARK FOR EVERY QUESTION"




Area and Perimeter

Age 7to 11 *

What can you say about these two shapes?

T T

What is the area of each one? What is the perimeter of each one?

What can you say about the shapes below?

AT
Het B CHH

You can print out a set of shapes and cut them into separate cards. These
cards have the coloured background.

Can you draw a shape in which the area is numerically equal to its perimeter?
And another?

Can you draw a shape in which the perimeter is numerically twice the area?
Can you draw a shape in which the area is numerically twice the perimeter?
Can you make the area of your shape go up but the perimeter go down?

Can you make the perimeter of your shape go up but the area go down?

Can you draw some shapes that have the same area but different perimeters?
Can you draw some shapes that have the same perimeter but different areas?




Plenary

Numerically Equal

Age 7 1o 11 &

I want to draw a square in which the perimeter is numerically equal to the area.

Of course, the perimeter will be measured In units of length, for example,
centimetres (cm) while the area will be measured in square units, for example,
square centimetres (cm?).

What size square will I need to draw?
What about drawing a rectangle that is twice as long as it is wide which still has

! a perimeter numerically equal to its area?



Recap Session (20.mins)
Place V.alue

Key Facts

10 Lots of | is

10 Lots of 10 is

10 Llots .of

is 1000



Recap Session (20.mins)
Place V.alue

Representation Number

Write down the number represented with Base 10 in each case.

2/3

C

Teddy has used Base 10 to represent the
number 420. He has covered some of
them up.

Work out the amount he has covered up.

How many different ways can you make
the missing amount using Base 10?



Recap Session (20.mins) 3/3
Place V.alue

D Place Value Chart Game

aWho Wants to he .a Hundredaire?



Recap Session (20.mins) 1/2
Place V.alue

What is the value of these numbers?
How do you know?

100 1000 . 5342
100 1000 . / \
100 4000 (10) / \
100 40 300 2 5000

100

Sometimes the order will be jumbled up - but the value of the
thousands, hundreds, tens and ones remains the same.

Jseful vocab: standard partitioning, non-standard partitioning, combine uni
f ones, tens and hundreds, compose, decompose



Recap Session (20.mins)
Place V.alue
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Recap Session (20.mins)
Measuwrements

8 M.atch the .mum .and .cm

3/3

20cm Tmm
21cm

12¢m

2cm

Tcm

T17cm 2mm

10cm 2 mm

20cm
2cm Tmm
2cm 2mm



